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LAW
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  “Secularism as the basic structure of the constitution has been held to be so on the basis
of more than 50 years” experience of the working of the constitution. The complete
apathy for all kinds of religious teachings in institutions of the State have not helped in
removing mutual misunderstanding and intolerance inter se between sections of the
people of different religious faith and beliefs.” This was stated by the Supreme Court
of India in :

(A) Aruna Roy V/s Union of India

B) Arunditi Roy V/s Union of India

P.A. Inamdar V/s State of Maharashtra
Unni Krishnan V/s State of A.P.

2. University of Petroleum, Energy, Gas and Oil has been created by a statute of a State on
self-financing scheme. It :

(A) Shall not be “the State” under Article 12
(B) Shall be “the State” having the trappings of the State under Article 12

(C) Shall not be “the State” with no liability and obligations to the public under
Article 12

(D) Shall not be “the State” because of its governing relationship with other people
under Article 12

3.  Sexual harassment of Women at working place was recognised as violation of human
right to human dignity in :

(A) Sarla Mudgal V/s State of TN (B) Vishakha V/s State of Rajasthan
(C) Nargesh Mirza V/s Air India (D) Menaka Gandhi V/s Union of India

4. The Fundamental Right to move the Supreme Court has been described as the
cornerstone of the democratic edifice raised by the Constitution and as such the Supreme
Court must always regard it as its solemn duty to protect the said Fundamental rights
zealously and vigilantly. This has been stated by the Supreme Court in :

(A) Daryao V/s State of U.P. 1962

B) Bandhua Mukti Morcha V/s Union of India 1984
Sheela Barse V/s Union of India 1988

M.C. Mehta V/s Union of India 1989
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Ae: T TS # TS (50) TRHE U9 T UEE Uk ar (2) 3k 1 Wt wwEl k IW
HiE

1. udfRYerr Gfaym o1 ga e ¢ fuse w9l 9 st gua @ gfaue & S % ergea
T WIR | <9 i Teensdi § 9ff Yepr o enfHer Su<el & Ufd Teh T Serdiar 7 fafiwe o ue
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IR & Gai=d =IrEred | 98 {69 ame | e ?
(A) STEUN I oH YA 6 sfea

(B) 3T&gdl T oM IfTEA 3T g
(C) HL.T MR M HENTE HhHR

(D) SAIFHWH T ¢ YT THR

2. T A H S R Sl A1 o 3T=iia dgie, S, 7 iR qa & favafaamer st womgmn
I TS 3TR
(A) |12 eT=<rid o’ R g
(B) &N 12 % T=wid ‘' TsA’" ol WISl §HE BT
(C) W 12 % 3T=id ' T’ ot STl o Ufd hIE STRRI TS qifeed =&l g
(D) Hifeh, Ik SITeh! TTich T2 IMEHIT Heleli & HRUI, ¥R 12 o <A1 T & 2

3. &M % WM W AF IS S 7HG TRAT & foeg 1@ AHa AER & Seeied fhe o #

AT 741 ?
(A) HIA T oM diHArg TR (B)  Toreiman s TS ek
(C) ity fiastt oMM @R sfe=n (D) e TIER ST I STk sfean

4. A FEEE H S 6 Hifcish SATHHR WRA % dfaue gR1 HfHa gSaites yed @ sTER
foren % w9 | aftld 1 T & saferT guiA IS i Hiferh SAfHRI ot & HAT 319 ufers
e AT AMMeT 3R ST 39 TR i S8 qaieh (&l H! a6t | a8 GoiH Hie A fohd
T H e ?

(A) TTEE M W IS TF 1962

(B) <Y1 Hferd A=l o™ I 1w gfear 1984
(C) iten o€ o™ 9RA TR 1988

(D) TH.EI. HEd 99 YRA TR 1989
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10.

Which of the following Articles do not contain the power of the highest Court of the
Country to punish for the contempts of the Court :

(A) Article 141 (B) Article 142
(C) Article 129 (D) (A) and (B)

Match the following :
a.  National Emergency
b.  President’s Rule

(i)  Article 316
(i) Article 360
c.  Financial Emergency (iii) Article 356
(

iv) Article 352

~

d. Public Service Commission for Union

Codes :
(@ ® () @
(A) (@v) @) @) @
(B) (@@ @) @ (v)
(€ @) @) @ (@)
D) @ @) (v) (i)
Schedule IX was inserted in the Constitution of India by :
(A) 1%t amendment 1951 (B) 42" amendment 1976
(C) 44th amendment 1978 (D) 52" amendment 1985

Hugo Gratius is regarded as the father of :
(A) Realist School (B) Analytical School
(C) Historical School (D) Philosophical School

“The task of Social engineering is to build as efficient structure of the society as possible
with minimum friction and waste,” said by :

(A) Kelsen (B) Karl Marx
(C) Roscoe Pound (D) Savigny

The difference between possession and ownership is as follows :

(A) Full enjoyment of the property is restricted in possession and there is no restriction
in ownership

(B) The right of ownership consists of excluding others from using it and there is no
such right in possession

(C) Both (A) and (B)
(D) None of the above



10.

freafafed § = 9 9 Tei= e & STeHEAT 6l SRR T8l W ¢

(A) o1 141 (B) I 142 (C) &™129 (D) (A) 3R (B)
Frefafed = faem sifse

(a) VS AR (i) 9/ 316

(b)  Twafd =1 A (i) T 360

(c) 3Tk SATacehTet (i) ©NT 356

(d) = ek Hell ST (iv) N 352

9N o G g 1X o % g ffaw w6t e 2

(A) 1951 YW HeNEH (B) 1976 I 42 A HINeH
(C) 1978 I 44 o HINEH (D) 1985 I 52 A HINEH
T AT Y FeRrhT STk AT ST © 2

(A)  Fenefaret foemem (B) TormroumEnet foremem
(C) Uferfaes faamem (D) <RI foemem

TR SRR 1 e & =y faare T afd & FurHyd TH 5 F9e g aE | 98
g = waT?

(A) Hered (B) ohTet HIG (C) U=l URE (D) Sfar

ool SR @il & sie frefafed S © :

(A) oS § Hafd 1 I0 3TN Tfaefod 81 § SR W@ § H1E gfaay T8 e

(B) Tanfice & AfHeRR H Ol 1 Hafd o SR 9 sifed hidehd © 3 ol &1 feufd T
FE B Tl

(C) ST (A) 3T (B)

(D) SR ¥ HE Tl
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11.

12.

13.

14.

15.

16.

Precedent is a source of Law in :
(A) Common law system (B) Civil law system

(C) International law (D) All the above systems

The meaning of per incurium is as follows :
(A) A decision which ignores a statute on the subject

(B) A decision which ignores the case law on the subject
(C) A decision which ignores the constitution on the subject
(D) All the above

An incorporated service of successive person is called :
(A) Corporate person (B) Corporate aggregate

(C) Corporate animation (D) Incorporial possession

Savigny’s Volkgeist theory reveals :
(A) Decision of the Court (B) Juristic opinion

(C) Spirit of the people (D) None of the above

The World Court refused to give its advisory opinion in :

A) The Genocide convention case

B

~—"

(
( The legality of the use by a state of Nuclear Weapons in Armed conflict
(C) Interpretation of Peace Treaties case

(

D) Legality of the threat or use of Nuclear Weapons case

UN Human Rights Council has taken the place of :
A) Human Rights Committee

B) Human Rights Commission

C) U.N. Centre for Human Rights

D) Economic, Social and Cultural Rights Committee



11.

12.

13.

14.

15.

16.

Td o A T EA R

(A) FHRI I YOt (B) Tafaer s gomedt
(C) A=A (D) T STRIEd onferar
R 3TRIREE 1 37ef fefafea ©

(A) TEn foig foad fanht fama W fom 1 San &1 9wt 2

(B) U@ fofar it fohelt Al & ST i UM AT T

(C) @ fofar St fawar W wfaem 6t 3 e 7

(D) IWI Gt

SN SAfEl 1 Aimfed qaT 9 FHEar § 2

(A) IANE Al (B) WIANE HahaH
(C) hidRe U (D) SRRl TogH

Gfert w1 ‘AicweRe’ fHET Wehe YA © -
(A) =T w1 flg (B) ST &1 Hd
(C) W &t e (D) SR H HIE &

fores =mermerd 3 GRS A o | TRR foRam o

A) SHEES HERE a6

B) R HEY % Uk TSA §RI AV BIUERI & TN bt AeEdreh! a5
wiifq e % frd=m o1 are

)
Q)
D) vk Rl % WA A1 AN i et St SEdl A

(
(
(
(

T Y AFTRR TREG 7 T foan

(A)  HFESTIHR FHId

(B) WHASIHHR AN 1

(C) HHETIRR 1 WK Y Hs

(D) aTfefep, WIS To Wi sAfeer et
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17.

18.

19.

Which of the following pairs are not correctly matched ?

(A) Doctrine of legitimacy Tobar
(B) Doctrine of non-recognition Stimson
(C) Doctrine of automatic recognition Estrada
(D) Doctrine of Effective control Nixon

Arrange the following treaties in order in which they appeared.

below :

(i) Convention Relating to the status of refugees
(i) European Convention on Human Rights

(iii) Convention on the Prevention of Genocide.
(iv) The pact of Paris

Codes :

(A) @ Gv) (@) ()

(B) (@) @) (@v) @

(© @@ G@v) @ ()

(D) (@v) @) G @

The purpose of the United Nations are :
(i) To maintain International Peace and Security
(ii) To establish World Government

(iii) To develop friendly relations among Member States

Use the code given

(iv) To secure International cooperation in solving problems of social, economic and

humanitarian character.
Of these following are correct :
(A) (i), (i) and (iii) (B) (ii), (iii) and (iv)

(C) (i) and (i) (D) (i), (ifi) and (iv)

D —5807 8



17. Tr=faftea & @ =0 3= 92 gafad 7= € -

(A) gt =1 fagr GIEIR
(B)  3THTHAI I TG ferm
(C) wE=fea AFal &1 fagra TS
(D) gt T skt fagr< e

18. 1= Wil =l 30w H gaaftea wifae A 3 &1 181 = e T e 1 T S
() IRomtE et uRfafa 9 g=fha stfaea
(i) HHETHHRR 1 JUdr e
(it) TCHER fHemen SfaEHy
(iv) U oIrm U™

i) iv)  (iii)

11

iii)

~"

11

iv)

~"

i)

i)

@)  (v) (i) (
(ii) (@) @v) @
(i) @) @@
(iv) (i) (i) (
19. TIH TP TANE T

() SIS wifd T YRaeh! I W

(i)  fored HTRR ST AT HET

(i) TR § HQ g Sl e <A

(iv) G neffer wd e Yehfa ot TEeAneii o THIHH ¥ STRigE HedT UH T |

THITE

(A) (i), (ii) T (iii)

(B) (i), (iii) T (iv)

(© (i) w (i)
(D) (), (i) T (iv)
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20.

21.

22.

23.

Assertion (A) : International law is not potent enough to restrain a powerful state

which has no respect for public opinion.
Reason (R): Sanctions behind international law are weak.
Code :

(A) Both (A) and (R) are correct and (R) is the correct explanation

(B) Both (A) and (R) are correct, but (R) is not the correct explanation

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

When two persons are descendants of a common ancestor but by different wives, they

are said to be related to each other by :
(A) Full blood (B) Uterine blood

(C) Half blood (D) None of the above

Rules relating to Sapinda relationship are based on the principle of :
(A) polygamy (B) monogamy

(C) endogamy (D) exogamy

The term Hindu denotes the persons :

(i)  Professing Hindu religion

(i) Professing Buddh, Jain or Sikh religion

(iii) Who are not professing Muslim, Christian, Parsi or Jew religion.
In respect of the aforesaid propositions which is correct ?

(A) (i) and (ii) are correct and (iii) is incorrect

(B) (ii) and (iii) are correct and (i) is incorrect

(C) (i) and (iii) are incorrect but (ii) is correct

(D) (i), (ii) and (iii) are all correct

D —-5807 10



20.

21.

22.

23.

HIAT (A) : T STHT 1 AR T HA Il T i 706G H | s fafer wem & 7
HIUT (R) : TR fafer & fafeq sremem gde 2

FHe :

(A) (A) 3R (R) T& €, 71 (R), (A) 1 Tl Tfeehmo §|

(B) (A) ¥R (R) T &, T (R), (A) 1 TE TR T

(C) (A) & &, W (R) Tod B

(D) (A) 7o &, T (R) T g

&l Q1 AR FHH oISt & S99 2, AAfh Fiet afcrai 9 5 2, 91 9 o709 § ue g 9 fohd
TR Helferd e S & 2

(A) o TR (B) TR T
(C) g T (D) T § *E Tl

wfte el o o fore fagr w eui| 82

(A) IgfoaTs (B) T foare
(C) gy foemg (D) foswdt foeme
fog vreg foret o1 iifira R B2

() feg o A A

(i) I8, 51 iR fa@ g A A

(iii) S SECIH, SHIE, URET A1 FgE GH I ST T8l B
SRR TS H H T TE 2

(A) (i) 3R (ii) 2T € R (iii) 7T 2|

(B) (ii) 3T (iii) W& § &R (i) TeW@ T

Q) (i) R (iii) TeTa €, AR (ii) T B

(D) (), (i) 3R (i) T =& E1
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24.

25.

26.

27.

28.

Marriages of all persons who are citizens of India belonging to various religions should
be made compulsorily registrable in their respective states where the marriage is
solemnized. This was held by the Supreme Court in case of :

(A) Githa Hariharn v/s R.B.I (B) Seema v/s Ashwani Kumar
(C) John Vallamattom v/s U.O.L (D) None of the above

Arrange the grounds of divorce in the order in which they appear in the Hindu Marriage
Act 1955. Use the code given below :

(i) Mutual Consent

(i) Breakdown

(i) Fault

(iv) Customary

Code :

A) ) @) 0 )
B () ) (v) 0
© O ) @) @)
D) (v O @) )
‘Tuhr’ means :

(A) Period of iddat (B) Period of menstruation

(C) Period between menstruations (D) None of the above

To convert a proposal into a promise the acceptance must be :
(A) Qualified (B) Unqualified
(C) General (D) Absolute and Unqualified

In which of the following statement “Undue Influence” does not exist :

(A) When dominating party holds real or apparent authority

(B) When a person’s mental capacity is affected because of bodily distress
(C) When a person threatens another to commit suicide
(

D) When the party holds fiduciary relationship

5807 12



24. fafim ol o1 AFET 9RG % G AR 1 A €9 9 Sq-370 Tl | S S
foraTe Tt g3 = Usihd e ifer €, frefafed § @ forg omet § wat= = | 98
ﬁrufzrf‘am%:

(A) i giew I fiord S o1t sfean
(B) EH =HM 3f¥eHT FHHR

(C) S dectHdd sM Ja 3 sf<a
(D) =T 9 & T

25. foam foeeg & oo 1 swern H aw foad 3 feg foare eifufam 1955 % stia oma €
() Ao weAfd

26. ‘TR FAAT:
(A) 3B & GHA (B) TSHH I HHA
(C) TEyd & o 1 T (D) T 9 ®E &I

27. &t y&am@ &1 g== § afafdd & & fae @igfa 2 =i
(A) e (B) farerd
(C) wHH (D) H¥qui e forrerd

28. fr=fafaa sweei § 9 forad staifea yuma foemm =& g ?
(A) 9 Y@ &R SRfoeh 91 Yehe T hl HROT Il ¢ |
(B) el fonslt =afer ot WIRIEh &0 o RV SHeh! WA a1 Ferferd et 7|
(C) 9 Teh Al TER hl SACHEAT Thi IHH! T 7 |
(D) 9 &R AvaTiieh Helel RO I ¥ |

D —-5807 13 P.T.O.



29.

30.

31.

32.

Assertion (A) : Agreement between ‘A’ and ‘B’ is void :
Reason (R) :  (A) Consent of a party was caused by coercion

(B) Both the parties were under mistake as to a fact essential to the
agreement

(C) Consideration in the contract is inadequate

(D) Consent was given under mistaken conception as to the value
of the subject matter of contract.

In a Wrestling ‘A’ tells ‘B” that Wrestler no.1 will win. ‘B’ challenges the statement of
‘A’. They bet with each other over the result of the match. This is :

(A) Unlawful agreement (B) Wagering agreement

(C) Contingent contract (D) Voidable contract

A valuable consideration in the sense of the law may consist either in some right or
interest or benefit accruing to one party on some forebearance, detriment, loss,
responsibility given, suffered or undertaken by the other is well explained in :

(A) Currie Vs. Misa
(B) Abdul Aziz Vs. Manzum Ali
(C) Gopal Co. Ltd. Vs. Hazarilal Co. Ltd.,

(D) Kedarnath Vs. Gauri Mohammed

Contract becomes impossible of performance if :

(A) The goods are not available in the market

(B) Workers are on strike

(C) Subject matter of the contract was destroyed at the time of contract

(D) Money is not available

D —-5807 14



29. SifeRed (A) : ‘A’ IR‘B’ % o HT GHI/FIR I Bl S |
T (R) : (A) T U § WEAld Yued/ SR SeRa&l | e ¢ |
(B) T &l bl IR o forlt S1famd qear o R H TTerd et off |
(C) e B foer e1vaig T
(D) THA i T & Te 1 Yid ehoaT o 37efiA Hedfa & 7 of |

30. TH & H A ‘B W Fedl § FF TeerdH g, 1 S ? ‘B’ A’ % HeH I g a1 1 9 Th
T Y T F S F SR ST AT R | TG FAME

(A) TR Tl (B) ¥ oI h1 HHET
(C) ATeh{EHe T (D) AR STa/FHeial

31. A & A § & Jouan e faemm 1 wehdl © a1 1 fohet siferem &, 2 wned & =1 foret
T&] ol BHETCl oY H, a1 $S AWl H, Afed #, fou T 1faw, &fd, a1 g8 o g i ™
T 4RO A H, 3 Tel el e wmenfaa ¥ 2

(A) L =

(B) TG SASHIST S HIH STt

(C) TIUTe SOt oMM BRI shat fafaee
(D) SR S T HigHg

32. foelt sTgey o1 FaeA et Yia &1 S € A -
(A) THH IR H 3Uersy 7 7
(B) HHEN! TSAA W &
(C) 3TTeY ol o] WU TS TR Hd THI Y BT
(D) &9 IucTs -T& @

D —-5807 15 P.T.O.



TORTS

33. In Denough V/s Stevenson, the duty of a manufacturer was fixed towards :
(A) Retailer only (B) Buyer from retailer

(C) Ultimate consumer (D) None of the above

34. The Rule laid down in ‘Ryland V/s Fletcher is not applicable to :
A) When the escape is due to “Vismajor’ or act of God
B

~—

(
( When the damage is due to the wrongful or malicious act of a stranger
(C) When the escape is due to the plaintiff’s own fault

(D) All the above

35. Whether the doctrine of “Common Employment’ is applied in India :
(A) Yes (B) No
(C) Partly applied (D) All are incorrect

36. The legal maxim ‘Qui facit peralium facit perse” means :
A) The act of an agent is the act of principal

B) The act of husband is the act of wife

~—

C) The act of a master is the act of a servant

(
(
(
(D) All the above

37. Ryland V/s Fletcher was decided by :
(A) the Privy Council (B) the Kings Division Bench
(C) the House of Lords (D) none of the above

38. The characteristic feature of a Tort is :
(A) Tortis a civil wrong (B) Tort is both civil and criminal wrong

(C) Tort is only criminal wrong (D) None of the above

D —-5807 16



33.

34.

35.

36.

37.

38.

.

A8 AW WA Amel § fafmian o1 wde ffarad o foeden fa ffvea fean e ean?
(A) had Gau faskar & ufd (B) @gY fashar < UTesk & Ufd
(C) AT~ JuMreRT & 9fd (D) S # fopet & ufa =&

etz ST R A § Frif e Frefarad 3 R W e T 2R
A) e T faaisR =1 3R & Fed 9 B B

B) W@ = fREt TSl % TTeid A1 g™ U Fed W Bl S

C) S Yo aIEl & W@ 3T <Y 9 Fiel ¥ |

I et

(
(
(
(D

)
)

FIN YRA B 18N USFIR 61 FIgT AN 2l & 2
(A) & B) &
(C) STifersh ¥ 9 =] Bl § (D) SWiEd Gt TTerd ©

A fagT ‘it Wiaa ufcfom Waaud’ w6 et §
(A) Afyerdl (Tie) 1 FF T4H H FA |
B) Ufd &1 F Ul B FA B

(
(C) TfeTeh 1 Fd Wb FHl FA T
(D) IWI Gt

et o Joi=r o1 Tt foraen gry fomam o an?

(A) Tl w=faa (B) Tt fefasm si=

(C) T TRH ATE Ared (D) WK H IS &l

gopfa ot faftme sifyerer s €2

(A) Tohia T fafaet sTaar © (B) T=hia U Tafaet i WISl 1 TR &

(C) TEFfd hadl SIS YR & (D) SRIF § 9 FIE &l
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39.

40.

41.

42,

‘A’ a child is in a house with ‘Z" which has caught fire. Neighbouring people spreads
a blanket to save the child. ‘Z’ in the interest of the child throws him on the blanket,
but the child dies. ‘Z" has committed an offence of :

(A) Murder

(B) Culpable homicide amounting to murder

(C) Culpable homicide covered under exception to section 300 of Indian Penal Code

(D) Not committed any offence

Which of the following statements is true in relation to abetment of an offence ?
(A) It is not necessary that the offence abetted has been committed
(B) There is no question of abetment unless the offence abetted has been committed

(C) That to prove offence of abetment it is necessary to prove that the abettor has
extended helping hand in the commission of the offence

(D) None of the above

Because of grave and sudden provocation of ‘Z” ‘A’ fires at ‘Z’, but “Z’ does not die. ‘A’
has committed the offence of :

(A) Attempt to murder
(B) Culpable homicide not amounting to murder
(C) Attempt to commit culpable homicide

(D) Grievious hurt

‘X’ dishonestly taken possession from “Y” a box containing Jewellary. While going home
X’ save Y’ is chasing him. ‘X’ left the box and started pelting stones on “Y’ to stop him
from chasing. ‘X’ has committed :

(A) No offence at all (B) Offence of theft

(C) Offence of robbery (D) Offence of extortion

D —-5807 18



39.

40.

41.

42.

‘A’ U eIk ‘7’ She1Y ek Ao | © FTem o1 ol g8 © | Slieteh o1 <= & ot TS o <
TS A R T § | ‘7 FTeteh o fed ol &AM § Wad U S8 s W ek <t €, foheg amere
HI I B W S 2 H T R e

(A) 7

(B) T I hife H T ATl SATRITeh TG 99

(C) STHTYe: AFEEY S WA TS Hiedl i €1 300 3 ST9E1E i 407 H 701 € |
(D) I oY & o 7

TURT F TR & Gy | 1 fafaa § 9§ 9 o e 96 ®?
(A) TE A TEl § o 9% 1o foraeh guRw o1 stfisked foran e €, fovan T &)
(B) STodeh IS STIY HHCTATYAh &l [ohall STl § T ek GEURUT Sl his YA &l ardl |

(C) TRV & 9T ol T9g 1 o farw goior & ok # =g wiferd a1 1w § fob goRes
A 7Y FHIRG F | Gl USH i off |

(D) SR H | HE 7L |

‘7’ % TR 3T STEHH YehIvA & R0 ‘A’ 7 R foedier & Tt Sl 8, oifehe ‘7’ i g -l
B B A’ T oTuy TR €2

(A) B YIA HI
(B) 3Tk HFEEH S & Tl &,
(C) 3Tk HHIY % T,

(D) =R 3uBfd &1

‘X’ ¥ Teh SIAeRI S ‘Y’ o ool § JEHMT § 3T9H hesl | of Tl | 9 X’ 3 oY 319 TR
S @I 9 <@ foh Y’ STt a1 I @I T 1 X S I8 8IS Y’ W TR e T& e
a8 =g ST fs1 F B8 ¢ 1 X | Hifka R g

(A) IS oY e feRan (B) i =T qwY

(C) T A1 WY (D) 3ISEUA T Y
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43.

44.

45.

46.

Match List-I and List-II and give the correct answer using the code given below :

List-1 List-11
(Subject) (Decided Cases)
(a) Defence of insanity (i) King V/s Virendra Kumar Ghosh
(b) Common intention (i) King V/s Mechnaughtan
(c) Necessity (iii) State V/s K.M. Nanawati
(d) Causing death due to grave (iv) King V/s Dadle Stephens
and sudden provocation
Code :
(@ ((b) ( (@
@) O @) G @)
® () O v (i)
© (@) () () 0
D) (v) @) @) @

Consider the following statements :

(i)  Joinder is an ingredient of conspiracy and unlawfullness is implied in it for causing
injury Joinder is a cause of action

(i) Where the fact of joinder is absent the cause of action becomes irrelevant
(i) For serving his own legal interest Joinder will not create a cause of action
Which of the statement is true in the above statements ?

(A) (i) and (ii) (B) (i) and (iii)

(C) (i) and (iii) (D) (i), (ii) and (iii)

Labour Law

In which of the following cases the Supreme Court of India has laid down “Triple Test’
for the identification of an industry within the ambit of section 2(j) of the IDA.

(A) D.N. Banerjee V/s P.R. Mukherjee

(B) H.K. Makwana V/s State of Gujarat and others
(C) Hotel Imperial, New Delhi V/s Hotel worker’s union
(D) Bangalore water supply V/s A. Rajappa

The term “Workman’ under IDA includes :

(A) a person employed for doing any manual unskilled, skilled, technical, clerical or
supervisory work for hire or reward

(B) a person employed mainly for managerial or administrative capacity
(©) (A) and (B) are correct
(D) (A) is correct

D —-5807 20



43.

44.

45.

46.

Teit-1 3R GEit-11 =01 gafea wifs o R giedi & T fiKd ™ %e & 78R 98 S| g9 :

Hei-1 Het-11
(faw=r) (Trfuta ar@)
(a) fcRan & ford S () wHE IH foeg FER =W
(b) HHH HAWH (i) HHE oM HehAreA
(c)  ATeITHHAl (iti) T SAH 6. TH, AT
(d) TR IR TEFE FRIH (iv) THR 99 ST LIk
T BT IR HEAT
g
(@ B (© @
(A) @ @) @) Q)
(B) @) (@@ @v) (i)
(©) @) (@) (v) (D)
(D) (v) () (D) (D)
Frefafed el W fomm i

() TeIA B HASH # d ¢ o fafu fowgw fifed 3t @1 @f7 ifia w01 % foro
S 9% 7% ¢ |

(i) STRT TS 1 q ST € SRl o R ST B S 2 |

(iii) T fedi & fafy 1 gaa % fore weem are 3 &1 S @l <l |

ST HUE | T A H HYF L E 2

(A) (i) 3R (ii) (B) (i) 3R (iii)

(C) (i) 3 (i) (D) (i), (if) 3 (i)
o fram

RA & Fare e A o Ame § sifeifie faarg sifuf=m =t g 2 (3) &t aRkfy § et
U i TeTH & faw fagw uftemn (foue o) fuifa fean 82

(A) ST T o AR, et

(B) TA.%h. HRaMI oM R ATh TSR TF 3T

(C) Bred gHiftae =€ focett s ded ahd o

(D) TR TR TEATE T T, TSI

sirenfiren faarg sifufm & siqia weg FHeR § Wi €

(A) B oft AfF & fheht Fieel goa wa s1gperel IR Sforena, fafusia et & faw an
T HE % faw)

(B) TS R foram 7o & A1 e IR T T § W Aok S Yelerera el A gk S
@ T

(C) (A) 3R (B) W&l ¥

(D) (A) W& T
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47.

48.

49.

50.

Under which of the following sections, a Registered Trade union is immuned from its
criminal liability where an act done by the members infurtherance of their Trade
Disputes :

A) Section 15 of the Trade Union Act, 1926

B) Section 16 of the Trade Union Act, 1926

~—

(
(
(C) Section 17 of the Trade Union Act, 1926
(

D) Section 20 of the Trade Union Act, 1926

In which of the following Cases it is well established that, any settlement between the
employer and with one or more concerned union in a conciliation proceeding would
bind all other workmen unions who were not made parties to the settlement :

(A) Ramnagar Cane and Sugar Co. Ltd. V/s Jatin Chakravarthy
(B) Shanbhu Nath Goel V/s Bank of Baroda
(
(

~—

C) Workers of Dimakuchi Tea Estate V/s Management of Dimakuchi

o

) None of the above

The word ‘Lock-out” is defined under Section 2(1) of the IDA, 1947 as :

(A) The temporary closure of a place of employment or suspension of work
(B) Refusal to continue the employment of the existing workers

(C) (A) is correct

(D) Both (A) and (B) are correct

Under Section 2(00) of the Industrial Disputes Act 1947, the word ‘Retrenchment’
doesn’t include :

(A) Termination of the Service of a workman

(B) Termination of the Service of a workman as punishment inflicted by way of
disciplinary action

(C) Voluntary Retirement of the woman

(D) Both (A) and (B) are correct

-00o0-
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47.

48.

49.

50.

T USi1ehd € a7 3797 SATIR el ol STER i o foau sTIfee Sifawi § fhe arel
%mﬂﬁﬁ%:

(A) ¢ g sAfuf 1926 6t &/ 15
(B) << g safuftad 1926 &t 91T 16
(C) <= IfA sAfufEm 1926 &t &/ 17
(D) ¢T g sAfuftad 1926 &t 91”7 20

frefafea ¥ @ forg amar § o7 Tonfua ¢ o feiea ik w& = w& 9 i gt & <=
Yog &1 HREAR 3 9t A & FHERE W o ARl 2 S 39 R H YRR Tl

ERICKIPIOY

(A) THTR 7 T0e YR Frql fafhee s=m sifad =shad
(B) YWY TEE SH ek ATE TLIQT

(C) <THpfa & TRe & FHHAR! I SR Gah
(D) SR H HIE Tl

‘qTem St (R 3TI8e) eR SR foere sttt 1947 1 U 2 (1) % Siaia qRe
form T %

(A) USFIR & T 1 AT TR W &g BT 31 hTH AT Tk ST |
(B) d HIN[S HHATE NI hH i § TR |

Q) (A) T FI

(D) (A) 3R (B) T ¥ |

sirenfires faame rfufram 1947 @6t &RT 2 (00) & 3faeta ‘St (Re=we) vee # frefafaa
i IS T 8 ?

(A) Trdl ASIGT 1 Haell st §HIfH |

(B) forelt ASIQY W STIUIE HRAT o &Y H IHeh! A FHIH L IUeh! YA FHIH A1
TUE T

(C) Hfeen &t Wifess dar fafa |
(D) (A) 3R (B) <M W&t €|

-00o0-
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